KENDRIYA VIDYALAYA SANGATHAN, MUMBAI REGION
Class X — PRACTICE TEST Examination 2020-21

Sub: SOCIAL SCIENCE Class-10
Duration: 3 Hrs. Maximum Marks: 80
AT I:

1.

8.

wed 99 # Ui @s aifAe §- A, B, C, D 3K E. wead ux & 32 wee &1 el wear arfaard &
W3S H - oA WEAT - 1 § 16 qEIfoss YR & W &

@S T - YT HEAT - 17 ¥ 22 oY 3 GHR & Yo §, [ @ 9qF wea 3 3 #7 &
Y AF TR FT 3 80 sal & HOF &t g =Rl

WS ¥ - WO WEAT - 23 ¥ 26 W AR Wt g, et @ vqF N 4 I3F &7 ¢

WS § - No WEAT - 27 @ 31 ¥ 30909 vFR & WA §, adH § 9AF N 5 3w F E
Y% o FT 36 120 el ¥ Hftw adi g =@nfew

T3S § - WA W 32 AF IMURT &, T & WP & WY 5 Ik FT g-3faew & 32.1(2 3F)
3R s & 322 (3 3%)

weT 97 # FE AT RFeq 7@ T gTeliiF, T Far@l A T Wdke RAeeq e frar
T X yeat A & F vF Rwew &1 & v F@m e g

FUF AT, T AF HHWT IR 9T F Ay Jrerar-arerer fader o v § F@r off smaegs @

General Instructions:

1.

Question paper comprises five Sections — A, B, C, D and E. There are 32 questions in the

guestion paper. All questions are compulsory.

2. Section A — Question no. 1 to 16 are Objective Type Questions of 1 mark each.

3. Section B — Question no. 17 to 22 are short answer type questions, carrying 3 marks each.

Answer to each question should not exceed 80 words.

4. Section C — Question no. 23 to 26 are source based questions, carrying 4 marks each.

5. Section D — Question no. 27 to 31 are long answer type questions, carrying 5 marks each.

Answer to each question should not exceed 120 words.

Section E — Question no. 32 is map based, carrying 5 marks with two parts, 32.1 from History
(2marks) and 32.2 from Geography (3 marks)

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be attempted.
In addition to this, separate instructions are given with each section and question,

wherever necessary.
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-3 SECTION- ‘A’

L TISH HHARMT & AT AT AT F41 A2 1)
What was the main problem with the Simon Commission?
(a) 39 3TARET # Tl geey fafear g In this commission all members are British
(b) sﬂwmﬁéﬁﬁgm AT It was formed in Britain.
(c) TE TSCATET AT TeteT shT Tfafshar It was set up in response to the nationalist
A Triad forar arar ar| movement.
(d) FUX & THT All of the above.
2. el i fHeme- 1)

Match the following

Column A

Column B

(i) dFeaIR FleAIehr a1 Software technology park

a.

Hergdl  Bhadravati

(i) oeT 3R e @I Iron and steel plant b. 3IFIW Amritsar
(ili)  YRTH HT FHIST 3T Silk textile industry c. #HRIgEE Murshidabad
(iv) Fell I 3T Woollen textile industry | d. sdTef&  Bengaluru

3. & &) TS TER bl W 3N 3MTehicT I Tgee? (1)

ow and identify the figure?

= =

Look at the picture given bel
3 s >l ?1}} ;

A. Tg STAfAAT Fr gfear g

It is the painting of Germania.

B. g ARITT hr Ufear &l It is the painting of Marianne.
C. I8 AR AT hr dfcar g It is the painting of Bharat Mata
D. g Y Téegge i dfar g It is the painting of Marye Antoinette.

1830 & &I # [Tl HATST "I ST hT TATTAT et hr?

Who founded the secret society, ‘Young Italy’ during the1830s?
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a1 OR
ferget feeqult 1, o " g Siehcll &, 9 AT JUT AT FEf =T STl 82

Who remarked “When France sneezes, the rest of Europe catches cold”?

5. ‘Tche "ereg T T T &2 1)
What did the term ‘picket’ refer to?
(a) Tl & TRT Stealing from shops
(b) HATeT =hT 3TATA Import of goods

(C) GoPTeT o WA §aR I 3TA¥SE ish fa-IY  Protest by blocking shop entrances

(d) U 3R FTHATT FT IESHR Boycott of clothes and goods
6. IS I Wcll & HEE H HEI SATeTehRT o T e ATfelehl sl Rt - (1)
Complete the following table with correct information with regard to cultivation of Rubber.
el A I JhR GISEICH arf¥e auT
Crop Type of Crop Temperature Annual Rainfall
Lrry 3SuThfeaIT wael
? ?
Rubber Tropical Crop
7. 1956 # 9T shlefel o I HTelepT bl TSI HTIT TN FohaT| (1)
The law passed in 1956 declared as the national language of Sri
Lanka.
8. Y« FI RATAT Y g Ter g A7 el | (1)
Mark the statement this is true or false.
HUTH I Wil &fdciden &75 &I Teh A af g
The cultivation of cotton is an activity of Secondary Sector.
9. HRd dT TSET HIST FT coll HT ST T §2 : 1)
Which language has status of the national language in India?
() e Tamil
by f&ar Hindi
(c) 3f3rsh English
(d) SIH T HIS ALY None of these
10. 1804 T AT IS HHAR W & I H SATAT ST & (1)

The civil code of 1804 usually known as the

a  OR

Page 3 of 15



.......... Tk Wi TSE T Jid T reed SHidr &
.......... allegory represents the nation of France.

11. ‘g¢ AT I fha= forar g2 (1)
Who wrote the song ‘Vande Mataram’?
1) OR

TRicy e ‘e Farer fhae fordr 87

Who wrote the Famous book ‘Hind Swaraj’?

12. U 91T AT T ‘JeTRIOT o Heeh H u¢ 3N e fdehod Yol — 1)
Read the given statements in context of ‘globalization’ and choose the correct option -
A. TE S & 3T TAHRTH T ThATT AT &
It is the only way for economic development of the country
B. Wgﬁmﬁ%ﬂﬂ'?ddls\i T shd ol 3culest 3menRd afafafear sar g
Interlinks only production based activities in dispersed locations in the world
C. 3T gHAT GAHT S2AT 7 haer GhRIcHAS IROTH T §
It has always given only positive results in all the countries
D. Teh &1 A g@ &9 & e e, TEhfaal iR 91 & JTaR 6T 3R STl &

Leads to spread of technology, cultures and diseases from one region to another.

13. feAfaif@d 7 & i a1 [adhed Ta9 30T FIST golfar g2 (1)

Which one of the following option best signifies the cartoon?

ECONOMIC GROWTH

AND i

INCOME DISTRIBUTION /i3
GAINS

A. g 3HR 3R e & g 3TATAT ey |
It shows the disparity between the rich and the poor.

B. Jg 378N 3 e & g gAIar Fr g2 g |
It shows the equality between the rich and the poor.

C. Ig STaT § T dilehdd 7 TSI 4T TIT SaRT THTT T T TS haT ST & |
It shows that in democracy national wealth is shared equally by all.

D. I fo@r 1 ¥ & diend ¥ 3nie e sy T &ar & |

It is showing that democracy guarantees economic development.
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14.  FY HI RAFAT HI Tg FE & 1 T d| 1)
Mark this statement which is true or False-

750 ¥ 3118k TsTeiiicieh gof R fo¥aTeret 3T H Gaflehel o 1|

More than 750 political parties are registered with the Election Commission of
India.

15. Trseiicish ATél o IR & ITeld ST ol | (1)

Choose the wrong statement about political party.

(@) TSI &of AT s B
Political party contests election.

(b) TSl gof faualy ol o ¥9 & rd HLAT ¢ |
Political party acts as an opposition party.

(c) TSTIcieh &of el ST
Political parties make law.

(d) STH @ FIg o oTel |

None of the above

16. HAFUT 3 FRIT ASSERTION AND REASON (1)
(a) 3Ife FTAFUA 3R FROT gl AT g, IR FROT ITARUA hT TET SATEAT & |

If Both assertion and reason are true, and reason is the correct explanation of
assertion.

(b)  afe 31fAFUT 3R FROT ST T &, AfeheT FROT 31THFYUA HT TG AT 781 ¢ |

If Both assertion and reason are true, but reason is not the correct explanation of
assertion.

(c) Ife 3FFUA T §, otfched dROT 3T ¢
If Assertion is true, but reason is false.

d) IfE et FraF 3R FROT I L

If Both assertion and reason are false.

HffwU. AR ¥, TS o SAFT TR BT 1T ST Y TR F A SAFR ALY
T ThAT B |

FHROT: AT HRA H Hlofeil (A der g |

Assertion: In India, no individual can refuse to accept a payment made in rupees.

Reason: Rupee is the legal tender in India.

@s-'T - SECTION- B
17. memmmﬁwamy?waﬁﬁm (3)

Why did different social groups join the Civil Disobedience movement? Explain.
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18.  glel & asil H Rl H HTV oh &7 H Y T I FEATT HR Tehotiehl TRecTeAl T (3)
guTeT Y|
Describe the institutional and technical changes introduced in the field of agriculture in
India in the recent years.

19. O AN YSR &1F H AR U olig 3R SEATA 31T T HThcld UehEIdl F31 g2 S
s T S_ROT & 3)

Why do we have maximum concentration of iron and steel industry in Chota Nagpur
Plateau region? Give any three reasons.

Ayar Or
"eY ST9TE TATaIoiT Arae @Y 1S § 1" 9ATaToT & 8107 &Y Uehel 7 HEE ey dTel Tohodl
JIsT 39Tt Y SITEAT S|

“‘Environmental degradation has been seen everywhere.” Explain any three
measures that can help to prevent environment degradation.

20.  G9T cllehcld I FT GHG Xl 52 cilel HRUI & THASTST| (3)

Why do people prefer democracy? Explain with three reasons.

21, "UTPAA T TCART Teh ¢ i TR ATFAR/TC R Tehoe ST § 1" AT 3T $H HUT @
HegAd ¢ IR Fa1? 3)

“Sharing of powers makes a country more powerful and united.” Do you agree with
this statement and why?

ryar Or

e H "ICoraH HAlSA" & $O HecdqUl dedl T quT |

Describe in brief points some important elements of “Belgian Model”.

22. UGS T JoIAT H Hel hT AleTd Taehrd Farshich H dgc Lfhar 4T §2 et SRoi @

HASSU |
Why does Kerala have a better Human Development Index ranking in comparison to
Punjab? Explainwith three reasons. 3)

@3- - SECTION- C
23. A v 71w yre Y 92 ik Refafaa weal & 36w & (4)
HETCAT el STeTeT 1915 HR il 37| ST feh 3119 STTd &, 98 GaToT 37shiehT & 31T &
STET 3o let STECTdTGT ATHe Sl Ueh 95 UHTel UX TG ToleT hl Ueh o1g TG U el oh AT ofST 21T, T
3G ol TcITIE gl AT| ARG & [AaR o T 1 2AfFd 3R TcT 1 @it FT 3T1aeThdr o
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SR e | I8 geira fea foh Ife SRt e T, 1E Foy 31warg & Qe o1, at 3chiss @
oT5e1 & TolT AR SoT ST 3T ehdlT el &
Wﬂﬂmﬁﬁ%ﬁvéﬁmw:@ﬁm & 38T & ATEIH T FIS1S Sid ThdT g | T8
3cSeh hl ITRTCAT & 3Tl dhieh TohaT ST HehdlT & | 3cdiseh Afed o3l ol T oh 39T
HTETH & TTUTS Dl Wl oh TolT 91 1T I8T| e IHdd: ST AT T il o ol STe 27|
HETCHT AT T AT AT fob JTEET oh1 g &3 Heft STRCAT ohl Tehole X Hehell B |
Wq@ﬁésm,mmﬁ%ﬁﬁﬁ@mxmﬁmmmwm
TSI fhaT] 1916 #, 3ogiel [9@R H TIROT T ATAT T, TTHH FRaTaAT shY GHTRRT
FETRIYOT JOTTel & T FErd i¥el o forw 9 foham arm| T 1917 A, 37gial IR &
YT Totel o fohaTail st THYT el oh TolT Teh TcATIIE T ATATSTeT [ohaT| Tl I Tatheld
3R CoHaT Sl AGTHRT & G, WST oh T TeT ISTEa T 33Tt o161 Y Hehel &, TN HIaT T
e 2 o Torea Garg A ST &Y S| 1918 A, AGICHT Il hurd TR e AT & S Acararg
3TTETeleT T TSI &l & [olT 3gHEIEIE T

23.1 AFAfaf@d A & &l AT FUA Fer 872
(a) HGTCHT M o GRTOT 3nhrehl H FAETAIE! AT I Hebleor fohar |
(b) e & AR H FAMEIE T HTeA AT Pl oE] el T SArE fohar |
(c) NSl & 3del AfY @ IS Pl HJSC A 1 gar g fowar |
(d) =t (a) 3R (b)

23.2 G & TaUR 9T S &t hl hIfAA T |
(a) T Fr afFd| (b) 315 ! I e & WISl T fem|
(c) T F @IS I 3TTLThT | (d) 3WIFT Gl

23.3 FATIT@d # & T AT FUF FE 87 |
(a) 1918 H, HIcAT el UURVT H TAS Hslqy & T HcAAE 3Maleled I TATole
e AT A
(b) 1918 &, HEIcAT M GHATHRT FETRIYUT YUTTell & [WTh AT 3Tl
ST A F T 3gACETE T
(c) 1917 & HgIcAT el A WT & fFrAE T Toikd TIE ¥ TEd & & fov T
HcITE T AT fRar|
(d) @t (b) 3R (c)

23.4 HGICHAT I ¥ WST H TG T AT [T AT Fifh

(a) WST & TehaTeT HEeT TR §lot o HRUT T T I 761 hl Fehdl I |
(b) fordTeT T AT ST FTET AT TG AT

Page 7 of 15




(C) BT &I TaHerdl IR ToldT hi HETART & fhATeAT shl TeTed H T T AL el &
[EIEECAaERI]
(d) IRFT H A IS a1 |

Read the text given below and answer the following guestions.

Mahatma Gandhi returned to India in January 1915. As you know, he had come from
South Africa where he had successfully fought the racist regime with a novel method of
mass agitation, which he called Satyagraha. The idea of Satyagraha emphasised the
power of truth and the need to search for truth. It suggested that if the cause was true, if
struggle was against injustice, then physical force was not required to fight the
oppressor.

Without seeking vengeance or being aggressive, a Satyagraha could win the battle
through non-violence. This could be done by appealing to the conscience of the
oppressor. People including the oppressor- had to be persuading to see the truth
through the use of violence. By this struggle, truth was bound to ultimately triumph.
Mahatma Gandhi believed that this dharma of non- violence could unite all Indians.
After arriving in India, Mahatma Gandhi successfully organised Satyagraha movements
in various places. In 1916, he travelled to Champaran in Bihar to inspire the peasants to
struggle against an oppressive plantation system. Then in 1917, he organised a
Satyagraha to support the peasants of the Kheda District of Gujarat. Affected by the
crop failure and a plague epidemic, the peasants of Kheda could not pay the revenue,
and were demanding that revenue collection be relaxed. In 1918, Mahatma Gandhi
went to Ahmedabad to organise a Satyagraha movement amongst cotton mill workers.

23.1 Which of the following statements is correct?
(a) Mahatma Gandhi fought against the racist regime in South Africa.
(b) Gandhiji tried to implement his policy of Satyagraha in India.
(c) Gandhiji tried to satisfy the Britishers by his policy.
(d) Both (a) and (b)
23.2 The idea of Satyagraha tried to emphasise
(a) The power of truth. (b) Rejected falsehood totally.
(c) The need for search of truth (d) All of the above
23.3 Which of the following statements is correct?
(a) In 1918, Mahatma Gandhi went to Champaran to organise a Satyagraha
movement amongst mill workers.
(b) In 1918, Mahatma Gandhi went to Ahmedabad to organise a Satyagraha
movement against the oppressive plantation system.
(c) In 1917 Mahatma Gandhi organised a satyagraha to support the peasants of
Kheda to relax revenue collection from them.
(d) Both (b) and (c)
23.4 Mahatma Gandhi launched Satyagraha in kheda because
(a) The peasants of kheda could not pay tax due to crop failure.
(b) The peasant did not want to pay taxes
(c) Crop failure and plague epidemic forced the peasant to demand relaxation in
revenue.
(d) None of the above.
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24. #rr fRw v ure it ¢ 3 Aeafafad geat & sax ) (4)
TS T HIH T Blel o STe; Gelel TYeT 1 ©13 feam ST & 3R 18R sver 3R favenet & ey
I B3 &1 ST § | SIRES, BeH9Te, 7L 9aer R 331 o1 Ut & {7 31T ga
$I Hels h HRUT 3R el H HROT S €| ISR, TSIEUT, HEF Feel AR HGRISE o1
U & A &ROT & JHG HRUN H @ Teh 3RS 8| IoiTe, §RATOT, Gierslr 371 veer A,
TS & foIv 31ftieh Siel STATa ${ff # FauTar 3R &TRIFdT # gef&r & forv FAer B
AT 3T o TAIT AT T2 &l el HR AR 3T o fov SHedrse 3R @oeet=
ST @iAsT JEHERTOT @ STATaROT 7 SR AT 3 el 3ce=T Blch! & | T8 fA W a8 & 915
el 7 goreht fATE & aeol SITaT 1 8Tel & asit &, 3fRIse & &9 # ez safrse o
o &S Teedl H 9fH 3R SToT TGUUT T Ueh W HRUT &7 91T & | A &TOT hT FHEATIT I
el Y & S dlieh ¢ | TS 3R TS o 3T Ul @ FS §< odsh Hee [8el evell ¢ | et
% 3T Sl &l AT, TS T HAIAUT, HICGR STSAT T TGThT I o elall I [EU AT
31 &TOT BT SITeT el oh S oRieh & | IURISE A T 3R JaiereT, Geied AfATATEAT o
foreroT, I fAdgeT 3N et raferset s fAuert 3R 3TR & e JafIse
HeITTen R IUATRIT &1 # 83 31X STel TGNUT I o & Hehel o |
24.1 SRWS, BAMEIG, AT Tl 3R 3NT3AT S Tt H, 31T A 8107 oh1 HRoT 741 B2

(@) WeIel o HIRUT Tl ST HelS (b) STt H gefer
(c) THedr & aRrgar (d). 3R FY
24.2 ISR, TSTEUTA, HEF eI 3R AGRISE S T2l A, ${fA &T0T o HROT 41 82
(a) FraIoT (OEIGERE]
(c) Telt SATTSAT AT ST OESRETE:E
24.3 Goie, gRATOT AR GfREAT 3oX 9eer Sie T2t #, 13T 1A &T0T o1 SHROT 47 §2
(a) 3faTS (b) 3a-8feiaT
(c) AFfafdas (d) 3T T
24.4 31Tt TS & FROT A &0T & forw TeeR € -
(@) STl STHATT (b) GOTaT H gefr
(c) e & emiar (d) 39 Tl

Read the text given below and answer the following guestions.
Mining sites are abandoned after excavation work is complete leaving deep scars and
traces of over-burdening. In states like Jharkhand, Chhattisgarh, Madhya Pradesh
and Orissa deforestation due to mining have caused severe land degradation. In
states like Gujarat, Rajasthan, Madhya Pradesh and Maharashtra overgrazing is one
of the main reasons for land degradation. In the states of Punjab, Haryana, western
Uttar Pradesh, over irrigation is responsible for land degradation due to water logging
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leading to increase in salinity and alkalinity in the soil. The mineral processing like
grinding of limestone for cement industry and calcite and soapstone for ceramic
industry generate huge quantity of dust in the atmosphere. It retards the process of
infiltration of water into the soil after it settles down on the land. In recent years,
industrial effluents as waste have become a major source of land and water pollution
in many parts of the country. There are many ways to solve the problems of land
degradation. Afforestation and proper management of grazing can help to some
extent. Planting of shelter belts of plants, control on over grazing, stabilization of sand
dunes by growing thorny bushes is some of the methods to check land degradation.
Proper management of waste lands, control of mining activities, proper discharge and
disposal of industrial effluents and wastes after treatment can reduce land and water
degradation in industrial and suburban areas.

24.1 In states like Jharkhand, Chhattisgarh, Madhya Pradesh and Odisha, what is the
cause of severe land degradation?
(a) Deforestation due to mining (b) Increase in salinity
(c) Alkalinity in soil (d) All of the above

24.2 In states like Gujarat, Rajasthan, Madhya Pradesh and Maharashtra, what has
caused severe land degradation?
(a) Afforestation (b) Overgrazing
(c) Growing of thorny bushes (d) all of the above

24.3 In states like Punjab, Haryana and Western Uttar Pradesh, what is the cause of
severe land degradation?

(a) Overgrazing (b) Over-Burdening
(c) Over Irrigation (d) All of the above
24.4 Over Irrigation is responsible for land degradation due to —
(a) Water logging (b) Increase in salinity
(c) Alkalinity in soil (d) All of the above
25. 3% f&w 317 g1e # 9¢ 3t Feafaf@d geat & 3w &) (4) &H

cell @ T4aT FEUTeY 3T JeereT hleh ToTeiifcieh Gell hl ATaRTehall hl HHST Heohl & | AT H &
3rAicar AT 8191 Safav 1S oY fhaly ofY 92 AT seelra & IR F e & IS arer
ST6T Y UTUITT | EIHR T IS 8T HohdT &, Slfehed ST 3T TAAT shafy off 1A wal|
fFatRa wfafafr 39a RaTaa &9 & [ Sareeg g & 3 Solter & &1 i &1 oifehed ST
S TATIT SATTIT SHh [T FIg TFAGR 16T 8P| §H H3 AT H T oh IR-GTEr
MR FoATal & @ T g8 I & T Hevel ¢ | BT, TIET JirenRes &7 & g
TG 3T §, 3MHAR TR I SWT AT § [ 911 Ua & 3170 a1et & fFenford g S 8, et
T TAF 39 SFHICIRT HT Yool AT & | Sk LT UIET XA & | JgY FROT & Foh g gfaram
o ofaTsTaT {efY 2T A T cieh &of UTd &, TTe A S 9 81 IT BIe, WA &1 AT AT, TIh et gt
a1 fashraeiieT|
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25.1 ¥ W9l @1 HAE S Gl gihel ael & fow e {a AR @ew w@a g, & 3
T H AT ST &

(a) TS el (b) s @Hg

(c) Tstehfas Adca (d) IOTcHS TH
25.2 Toiaifaeh ol & Oceh &T &

(a) AdT (b) GfhT GeET

(c) 3Tl (d). 3UeFT Tt
25.3 YeATd H Jcdeh 3FHIGAR ghar |

(a) IR (OE:GE]

(c) Farer e (d). IRIFT T
25.4 AT & 37

(@) I TET=T (b) ITH FHT

(c) T & HEcaqUT AN (d) 3RIFT & T PIS AT

Read the text given below and answer the following guestions.

We can understand the necessity of political parties by managing a situation without
parties. Every candidate in the election will be independent. So no one will be able to
make any promises to the people about any major policy changes. The government
may be formed, but its utility will remain ever uncertain. Elected representatives will be
accountable to their constituency for what they do in the locality. But no one will be
responsible for how the country will be run. We can also think about it by looking at the
non-party based elections to the panchayat in many states. Although, the parties do not
contest formally, it is generally noticed that the village gets split into more than one
faction, each of which puts up a ‘panel’ of its candidates. This is exactly what the party
does. That is the reason we find political parties in almost all countries of the world,
whether these countries are big or small, old or new, developed or developing.

25.1 A group of people who come together having common interests and goal to achieve
power is known as

(a) Political Parties (b) Interest groups

(c) Political leadership (d) Factional group
25.2 What are the components of political parties

(a) The leader (b) The active members

(c) The followers (d) All of the above
25.3 Every candidate in the election will be

(a) Dependent (b) Independent

(c) Opposing (d) All of the above
25.4 Meaning of Panchayat

(a) Village headman (b) Village council

(c) Important people of village (d) None of the above
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26. =9 fow v gre # 9@ 3 A=afaf@d weat & 3 &) (4)
deh 39T STAT TR T hael Teh BT REAT sTehel o T H el 1T I T g | 36TeX0T & foIg,
R H S 31 f&AT 379 STAT TR T ST 15% sTehal o & F IW@ ¢ | 3 THTRATIT BT
3Tl el oh TNl & &9 & I@T STl &, St fondly ot feeT b & 99 fovepretat 31 Hehdl &
T, ol fARIY feeT IR 38 F& STATRT hel fAshrerel & folw 311 &, gHfIT S 3o afehcy
o Y T el H G&TH BIcT & | e FOT &l TAEAR el oh Tl STAT o 9o G&d 7
39T A & | fafdesr 3nfde arfafaferat & fore wgor i 9y AT &1 d et i For
HTTRISATIHT T I et o [oIT STAT T 3UATT A & | $H G, 3o 3 alrell o dra
HEITYAT I & [oieTeh g 31Ty A (S/amenan) & 3R @ 3t s fAfeat (3urearst) fr
HTERTHAT H g1 s F3uifaie W fSraalr ot &d 8, 3899 gl SA1eT &Y AT i ot & |
SR & FAT Yooh o1 ST § 3R STATRATIT bl AT I T STl 8, S8k e

T 3R 37T T HET AT 8

26.1 TAFITITET # & shieT AT ShiST &l IAtTarRen Al 61 &
(a) WEHR (b) RedeR 3R gea
CEUEIEREEED (d) SITARY

26.2 TIEHRT EIRT deh @RI fIT 1T Lok AT JobaAT H AT H &I &
(a) e (b) TET
(c) 2T 3T (d) 5T JHTaH

26.3 deh STAT & YA @A T 3TN FIA 8
(a) INBI W AfF Aeram@ T @ (b) 3o fAafAd @t & qu

(c) fTaEaid %ot (d) SlehT T FTeeRTOT T =T
26.4 farafaf@a 7 @ Fla arwiscHred &

(a) TATIRaeh (b) sTTST X

(c) YeTsiaTeeT s fafer (d) & gafr

Read the text given below and answer the following guestions.
Bank keeps only a small proportion of their deposits as cash with themselves. For
example, banks in India these days hold about 15% of their deposits as cash. This is
kept as provision to pay the depositors who might come to withdraw money from the
bank on any given day. Since, on any particular day only some of its many depositors
come to withdraw cash, the bank is able to manage with these cash. Banks use the
major portion of the deposits to extend loans. There is a huge demand for loans for
various economic activities. We shall read more about this in the following section.
Banks make use of the deposits to meet the loan requirements of the people. In this
way, banks mediate between those who have surplus funds (the depositors) and those
who are in the need of these funds (the borrowers). Banks charge a higher or rate of
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loans than what they offer on deposits. The difference between what is charged from
borrowers and what is paid to depositors is there main source of income
26.1 Which of the following is not an informal source of credit

(a) Money lender (b) Relatives and friends
(c) Commercial banks (d) Traders
26.2 Rate of interest charged by moneylenders as compared to that charged by bank is
(a) Lower (b) Same
(c) Slightly higher (d) Much higher

26.3 Banks use the major portion of the deposits to
(a) Keep reserve so that people may withdraw  (b) Meet their routine expenses

(c) Extended loans (d) Meet renovation of banks
26.4 Which one of the following is not terms of the credit

(a) Collateral (b) Interest rate

(c ) Mode of repayment (d) All of these

@s-T - SECTION- D

27. SV b hd FAGIAIG of S9N H ASCATGT HTAATAT T HTGAT [ah A d el H HAGG |

Explain how ‘Romanticism' helps in developing a sense of nationalistic sentiment
among people. (5)

Fgar  Or
SR ShifcIehTRAT ST SHIEET STt o Srer ATefigeh Tgelet shi $TaeTT deT hiet & Tl &
forw a1T TRt o e 39T Y eaTEaT HY|

Explain any five measures introduced by the French revolutionaries to create a sense
of collective identity amongst the French people.

28. ‘HRA H T YRdgeT 3R Yol IRagl Jfaeatdl 7gT & afch Th g@r & R &1’ 38 FUA
$ 3T fgy A (5)
‘Road transport and Rail transport in India are not competitive but complementary to
each other.” Justify the statement.

dgar Or
R H 5 IRageT H 37 arell Urg T AT T JUTT Y|

Describe any five major problems faced by road transport in India.

29. 1992 #H faFgIeIor T G2 #H EIHR SaRT 3T T 5 FHGAT HI qofed Y| (5)

Describe any 5 steps taken by the government towards decentralization in the year
1992.

30.  HIATSA IR IS &¥Ht & FreIfeled AR hl U &l JoreT SITTT| (5)

Compare the employment conditions prevailing in the organize and unorganized
sectors?

¥yar Or
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31.

32.1

32.2

32.1

32.2

qRageT JUTTCl T 3ETE0T &l §U il &7 &hl TRER AT Hoaweil hr sgrear 3| (5)

Explain the interdependence of all three sectors giving examples from transportation
system.

‘FAIRIOT Sl TG Y| IR 37TTgE2AT & F2ANHIOT o fordlY oY T ooy hr gouter
H ()

Define ‘Globalisation’. Describe any four benefits of globalisation to the Indian
economy.

@s-'S - SECTION-E

MAP SKILL BASED QUESTION
ol TUE T AR N A ARG & U 9T FR@T AR ) REgad R o g
3¢ Jgdlel AR 3o g Wil I8 dgdAl W 3dAdh AT o] (2)
(a) 98 TIT ST 918 9 37T AMGlold 3dleieh AT & HRUT FHCA g T
(b)  @ice Al SRS & FAME I 3 TAA |

T & 3T AT W Heafai@a & @ R 39 & e | 3)
A Hdrd arer

B HIERN - AIFCII CFAlelol T

C Us TSI @l Srall AT 918 Srar gl

D T&F S 3cUcH Id

E oAqfa RIael FaRTSET ga1s 37881

Two places ‘A’ and ‘B’ are marked on the given outline map of India.

Identify them and write their names on the lines drawn near them.

@) The place where Non Cooperation movement ended abruptly due to violence.
(b) A place associated with the Cotton Mill worker’s Satyagraha.

On the same outline of the India locate any three of the following:

A. Salal Dam

Mohali - Software Technology Park

A state where Black soil found

A jute producing state

moow

Chhatrapatii Shivaji International Airport
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